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#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A
1 |dtiE
2 |[EHRE 2.1E+3 2,100.0 2,100.0
3 |AFE
4 |EHE 9.0E-1 0.9 2.5E+0 25 34
5 (AR
6 [ILFER 2.3E+2 230.0 1.4E+4 13,800.5 14,030.5
7 |fRBE 2.8E+1 27.6 2.7E+2 271.9 299.5
8 |ZWE 57E+1| 1.0E-1 575 58E+3| 3.9E+4 44,358 4 44,4159
9 |HAE 3.5E+1 35.3 40E-1| 1.4E+2 144.7 180.0
10 [HER 4.4E+0 44 1.0E-1 0.1 45
REEET! 1.5E+1 15.1 2.3E+0| 3.1E+2 309.5 324.6
12 |TER 3.4E+3 3,370.8 8.6E+3 8,622.9 11,993.7
13 |HREER
14 |[#E)E 1.8E+2 175.1 5.7E+3 5,653.1 5,828.2
15 |FiRk 1.0E+3 1,000.0 1,000.0
16 |[EWE 3.2E+0| 9.0E-1 441 2.0E-1 0.2 43
17 |RINE 2.0E+1 20.3 3.1E+ 31.0 51.3
18 |f&@HE 44E+1| 9.0E-1 451 1.0E-1| 1.7E+5 170,432.6 170,477.7
19 [ILEE
20 |RHE
21 |IKEBR 1.8E+2 182.2 9.6E+0| 1.2E+3 1,230.7 1412.9
22 |E&mER 4.6E+2 4625 4625
23 |BHIR 55E+3| 1.1E+0 5,490.2 4.2E+4 41,7784 47,268.6
24 |ZER 5.1E+3| 2.0E+3 7,108.1 2.8E+1| 1.2E+3 12225 8,330.6
25 |HER 1.1E+1 10.8 25E+1| 7.0E+1 95.1 105.9
26 |REAT 8.0E+1 79.7 20E-1| 22E+2 219.9 299.6
27 | KRFF 1.1E+1 11.0 20E-1| 4.8E+3 4,800.4 48114
28 |EER 1.4E+4| 1.0E-1 14,205.4 1.2E+3 1,201.2 15,406.6
29 |ZRER 1.3E+2 130.0 130.0
30 |FNFLE 3.0E+0| 1.0E-1 3.1 1.6E+4 16,001.5 16,004.6
31 |BHRE
32 |BRE
33 |MILE 1.9E+0[ 6.7E+0 8.6 7.1E+2 709.0 717.6
34 |[LER 3.6E+3 3,601.3 3.0E+5 297,503.2 301,104.5
35 |ILOg 6.8E+1 68.2 5.4E+4 54,000.7 54,068.9
36 |fESR 3.8E+2 380.0 380.0
37 |BIIR 2.1E+1 20.5 205
38 |BER 7.0E+0 7.0 7.0
39 |EER
40 |fERR 2.4E+4 24,000.1 24,000.1
41 [EER
2 |RIBER
43 |RERR
44 | KHR 1.4E+0 1.4 2.6E+3 2,601.0 2,602.4
45 |FIFER
46 |EEER
47 |[HiER
£ H 3.3E+4| 2.0E+3 35,355.7 59E+3| 6.9E+5 692,491.6 727,847.3
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